

See a Social Security Number? Say Something! Report Privacy Problems to https://public.resource.org/privacy Or call the IRS Identity Theft Hotline at 1-800-908-4490



EXTENSION ATTACHED

Form **990-PF** Department of the Treasury **Return of Private Foundation**

or Section 4947(a)(1) Trust Treated as Private Foundation

▶ Do not enter Social Security numbers on this form as it may be made public.

mation about Form 990-PF and its separate instructions is at www.irs.gov/form990pf.

		dar year 2013 or tax year beginning DEC	2 1, 2013	, and e	nding	NOV 30, 201	4
		foundation		·		A Employer identificatio	
T	HE	DOROTHEA AND LEO RABKI	N FOUNDATION			13-409165	0
Nun	ber a	nd street (or P.O. box number if mail is not delivered to stree	t address)		Room/suite	B Telephone number	
C	<u>/0</u>	J. GUITON, 218 WEST 20	TH ST.			212-503-8	<u>885 </u>
-		own, state or province, country, and ZIP or foreign [postal code			C If exemption application is	pending, check here
N	EW	YORK, NY 10011					
G C	heck	all that apply: Initial return	Initial return of a fo	rmer public c	harity	D 1. Foreign organization	ns, check here
		Final return	Amended return			2. Foreign organizations m	seeting the 85% test.
_		Address change	Name change			Foreign organizations mechack here and attach of the control	computation
H_0	_	type of organization: X Section 501(c)(3) e				E If private foundation st	
<u> </u>			Other taxable private founda			under section 507(b)(
		· —	ting method: X Cash	Accr	uai	F If the foundation is in a	
			other (specify)	1 2010 I		under section 507(b)(1)(B), check here
	\$		umn (d) must be on cash b				(d) Disbursements
Pa	rt I	(The total of amounts in columns (b), (c), and (d) may not necessarily equal the amounts in column (a))	(a) Revenue and expenses per books	(b) Net in	vestment ome	(c) Adjusted net income	for charitable purposes (cash basis only)
	1	Contributions, gifts, grants, etc., received				N/A	, sacri sacri only)
		Check X if the foundation is not required to attach Sch B		<u></u>			<u> </u>
	3	Interest on savings and temporary cash investments					<u> </u>
	4	Dividends and interest from securities	3,374.		3,374.		STATEMENT 1
	-	Gross rents			<u></u>		
		Net rental income or (loss)					
4	6a	Net gain or (loss) from sale of assets not on line 10	3,733.				
Ž	b	Gross sales price for all assets on line 6a 3,733.					
Revenue	7	Capital gain net income (from Part IV, line 2)			<u>3,733.</u>		
Œ	8	Net short-term capital gain					
	9	Income modifications					
	10a	Gross sales less returns and allowances					
		Less Cost of goods sold					
		Gross profit or (loss)			 _		-
		Other income	7,107.		7,107.		
	12	Total. Add lines 1 through 11	7,107.		7,107. 0.		0
	13	Compensation of officers, directors, trustees, etc Other employee salaries and wages			<u> </u>		
	14 15	Pension plans, employee benefits					
es		Legal fees		-			
ens		Accounting fees STMT (2	1,100.		200.		900
Ä	c	Other professional fees					
ě	17	Interest					
and Administrative Expenses	18	Taxes: (X and Tra STMT 3	29.		0.		O
ist	19	Depreciation and depletion					
Ē	20	Occupancy					
A	21	Travel, conferences, and meetings					
and	22	Printing and publications			<u>.</u> .		
	23	Other expenses STMT 4	50.		0.		50
rati	24	Total operating and administrative			000		0.50
Operating		expenses. Add lines 13 through 23	1,179.		200.		950
_		Contributions, gifts, grants paid	10,000.			<u> </u>	10,000
	26	Total expenses and disbursements.	11 170		200		10 050
	<u> </u>	Add lines 24 and 25	11,179.		200.		10,950
	27	Subtract line 26 from line 12:	4 072				
	1	Excess of revenue over expenses and disbursements	<4,072.	<u> </u>	6,907.		
	ı	Net investment income (if negative, enter -0-)			0,30/	N/A	
3235		Adjusted net income (if negative, enter -0-) LHA For Paperwork Reduction Act Notice, see					Form 990-PF (201

For	Form 990-PF (2013) THE DOROTHEA AND LEO RABKIN FOUNDATION 13-4091650 Page 2				
ſ₽	art	Balance Sheets Attached schedules and amounts in the description column should be for end-of-year amounts only	Beginning of year	End of	,
Ė		colonin should be for end-on-year amounts only	(a) Book Value	(b) Book Value	(c) Fair Market Value
	1	Cash - non-interest-bearing			
	2	Savings and temporary cash investments	11,315.	3,806.	3,806.
	3	Accounts receivable >			
	_	Less: allowance for doubtful accounts ▶			
	4	Pledges receivable			
		Less: allowance for doubtful accounts ▶			
	5	Grants receivable			
	6	Receivables due from officers, directors, trustees, and other			
	_	disqualified persons			
	7	Other notes and loans receivable			
		Less: allowance for doubtful accounts			
Assets	8	Inventories for sale or use		_	
Ass	40.	Prepaid expenses and deferred charges	01 261	04 700	00 077
•	ſ	Investments - U.S. and state government obligations STMT 5	81,361.	84,798.	82,977.
		Investments - corporate stock			
		Investments - corporate bonds			
	11	Investments - land, buildings, and equipment basis			
	10	Less accumulated depreciation			· · · · · · · · · · · · · · · · · · ·
		Investments - mortgage loans Investments - other			
	13	Land, buildings, and equipment: basis ► 2,864.			
	14	Less accumulated depreciation STMT 6 2,864.			
	15	Other assets (describe)			
		Total assets (to be completed by all filers - see the			_
	10	Instructions. Also, see page 1, item 1)	92,676.	88,604.	86,783.
_	17	Accounts payable and accrued expenses	32,070.	00,004.	00,703.
	18	Grants payable			
m	19	Deferred revenue			
Liabilities	20	Loans from officers, directors, trustees, and other disqualified persons			
ğ	21	Mortgages and other notes payable			
Ë		Other liabilities (describe)			
	23	Total liabilities (add lines 17 through 22)	0.	0.	
		Foundations that follow SFAS 117, check here			
		and complete lines 24 through 26 and lines 30 and 31.			
ces	24	Unrestricted			
<u>a</u>	25	Temporarily restricted			
Net Assets or Fund Balances	26	Permanently restricted			
ρŭ		Foundations that do not follow SFAS 117, check here			
Ę		and complete lines 27 through 31.			
0	27	Capital stock, trust principal, or current funds	0.	0.	
sset	28	Paid-in or capital surplus, or land, bldg., and equipment fund	0.	0.	
ţ	29	Retained earnings, accumulated income, endowment, or other funds	92,676.	88,604.	
Ž	30	Total net assets or fund balances	92,676.	88,604.	
			00 676	00 604	
_	31	Total liabilities and net assets/fund balances	92,676.	88,604.	
P	art	Analysis of Changes in Net Assets or Fund B	alances		
1	Total	net assets or fund balances at beginning of year - Part II, column (a), line	30		
•		st agree with end-of-year figure reported on prior year's return)		1	92,676.
2		amount from Part I, line 27a		2	<4,072.>
		r increases not included in line 2 (itemize)		3	0.
4	Add	lines 1, 2, and 3		4	88,604.
5	Decr	eases not included in line 2 (itemize)		5	0.
6	Total	net assets or fund balances at end of year (line 4 minus line 5) - Part II, co	olumn (b), line 30	6	88,604.
					Form 990-PF (2013)

	DOROTHEA AND LE			<u> ATI</u>	ON_	<u> </u>	<u>3-409</u>	<u> 1650 </u>	Page 3
Part IV Capital Gains	and Losses for Tax on Ir	rvestment	Income						
	ribe the kind(s) of property sold (e.g rehouse; or common stock, 200 sh] ` P -	ow acquired Purchase Donation	(c) Date (mo., d	acquired lay, yr.)	(d) Dat (mo., da	e sold ay, yr.)
a SEE STATEMENT				۲,	P	12/3	1/14	12/3	1/14
b SEE STATEMENT				 	P		$\frac{1}{14}$	12/3	
c'			<u> </u>						
d									
e									
(e) Gross sales price	(f) Depreciation allowed (or allowable)	1 107	st or other basis expense of sale		_		ain or (loss s (f) minus		
a 84.									84.
ь 3,649.								3	<u>,649.</u>
c					_				
d									
<u>e</u>		<u> </u>					_		
Complete only for assets showin	g gain in column (h) and owned by	T			,	(I) Gains (C ol. (k), but i			
(i) F.M.V. as of 12/31/69	(j) Adjusted basis as of 12/31/69		cess of col. (ı) col. (ı), ıf any		· · · · · · · · · · · · · · · · · · ·	Losses	(from col. (h))	
a									84.
b								3	<u>,649.</u>
<u>C</u>									
<u>d</u>									
<u>e</u>		•							
Capital gain net income or (net ca	pital loss) { If gain, also enter of the lift (loss), enter of the lif	r in Part I, line - in Part I, line	7 7	}	2			3	<u>,733.</u>
Net short-term capital gain or (los	ss) as defined in sections 1222(5) ar	nd (6):		_ \					
If gain, also enter in Part I, line 8,	column (c).			 			/-		
If (loss), enter -0- in Part I, line 8	nder Section 4940(e) for	Dodugod	Toy on Not	1000	3	20000	N/A		
						ICOIIIE			
For optional use by domestic private	toundations subject to the section	4940(a) tax on	net investment in	icome.)				
f section 4940(d)(2) applies, leave th	nis part blank.								
		and of once	ar in the base nor	d0				□ vaa	X No
Vas the foundation liable for the sect				11007				162	۱۱۷۱ لیمیا
f "Yes," the foundation does not qual	each column for each year; see the i			ntries.					
(a)	(b)	non donono po	ioro mamig any o	(c)				(d) oution ratio	
Base period years Calendar year (or tax year beginnii	Admotod analifina dia	tributions	Net value of no	nchari	table-use asse	ets	Distrit (col. (b) div	oution ratio rided by col.	(c))
2012	19 11 17	0,821.			97,02		(50 (5) 0		(3)/ 11531
2011		0,806.			107,20		_		00794
2010		0,809.			111,31		_		97105
2009		0,951.			116,36				94107
2008		1,142.			123,97				89873
? Total of line 1, column (d)						2		. 4	93410
	5-year base period - divide the total	on line 2 by 5.	or by the number	of vea	rs				
the foundation has been in exister		• •	•	-		3		. 0	98682
	,								
Enter the net value of noncharitab	ole-use assets for 2013 from Part X,	line 5				4		91	,652.
Multiply line 4 by line 3						5		9	,044.
Enter 1% of net investment incon	ne (1% of Part I, line 27b)					_6			69.
' Add lines 5 and 6						7		9	,113.
B Enter qualifying distributions fron	n Part XII. line 4					8			,950.
If line 8 is equal to or greater than	n line 7, check the box in Part VI, line	e 1b, and comp	olete that part usin	ng a 1%	tax rate.				<u>, , , , , , , , , , , , , , , , , , , </u>
See the Part VI instructions.					_				

Part VI Excise Tax Based on Investment Income (Section 4940(a), 4940(b), 4940(e), or 4948 - see instructions of the section 4940(d)(2), check here and enter "N/A" on line 1. Date of ruling or determination letter: (attach copy of letter if necessary-see instructions) b Domestic foundations that meet the section 4940(e) requirements in Part V, check here and enter 1% of Part I, line 27b c All other domestic foundations enter 2% of line 27b. Exempt foreign organizations enter 4% of Part I, line 12, col. (b). Tax under section 511 (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-)		15)
Date of ruling or determination letter:		
b Domestic foundations that meet the section 4940(e) requirements in Part V, check here of Part I, line 27b c All other domestic foundations enter 2% of line 27b. Exempt foreign organizations enter 4% of Part I, line 12, col. (b).		
of Part I, line 27b • All other domestic foundations enter 2% of line 27b. Exempt foreign organizations enter 4% of Part I, line 12, col. (b).		
c All other domestic foundations enter 2% of line 27b. Exempt foreign organizations enter 4% of Part I, line 12, col. (b).		<u>69.</u>
2 Tax under section 511 (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-)		_
		<u>o.</u>
3 Add lines 1 and 2		<u>69.</u>
4 Subtitle A (income) tax (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-)		0.
5 Tax based on investment income. Subtract line 4 from line 3. If zero or less, enter -0-	(<u>69.</u>
6 Credits/Payments:		
a 2013 estimated tax payments and 2012 overpayment credited to 2013		
b Exempt foreign organizations - tax withheld at source		
c Tax paid with application for extension of time to file (Form 8868)		
d Backup withholding erroneously withheld 6d 6		
7 Total credits and payments. Add lines 6a through 6d		0.
8 Enter any penalty for underpayment of estimated tax. Check here if Form 2220 is attached 8		
9 Tax due. If the total of lines 5 and 8 is more than line 7, enter amount owed	(<u>69.</u>
10 Overpayment. If line 7 is more than the total of lines 5 and 8, enter the amount overpaid		
11 Enter the amount of line 10 to be: Credited to 2014 estimated tax Refunded 11		
Part VII-A Statements Regarding Activities		
1a During the tax year, did the foundation attempt to influence any national, state, or local legislation or did it participate or intervene in	Yes	
any political campaign?		X
b Did it spend more than \$100 during the year (either directly or indirectly) for political purposes (see instructions for the definition)?		X
If the answer is "Yes" to 1a or 1b, attach a detailed description of the activities and copies of any materials published or		
distributed by the foundation in connection with the activities.		
c Did the foundation file Form 1120-POL for this year?		X
d Enter the amount (if any) of tax on political expenditures (section 4955) imposed during the year:		
(1) On the foundation. ► \$ (2) On foundation managers. ► \$ 0.		
e Enter the reimbursement (if any) paid by the foundation during the year for political expenditure tax imposed on foundation		
managers. ► \$ 0 .		
2 Has the foundation engaged in any activities that have not previously been reported to the IRS?		<u> </u>
If "Yes," attach a detailed description of the activities.		
3 Has the foundation made any changes, not previously reported to the IRS, in its governing instrument, articles of incorporation, or		
bylaws, or other similar instruments? If "Yes," attach a conformed copy of the changes		<u> </u>
4a Did the foundation have unrelated business gross income of \$1,000 or more during the year?		X
b If "Yes," has it filed a tax return on Form 990-T for this year? N/A 4b		
5 Was there a liquidation, termination, dissolution, or substantial contraction during the year?	\rightarrow	<u>X</u>
If "Yes," attach the statement required by General Instruction T.		
6 Are the requirements of section 508(e) (relating to sections 4941 through 4945) satisfied either:	ļ	
By language in the governing instrument, or		
By state legislation that effectively amends the governing instrument so that no mandatory directions that conflict with the state law		
remain in the governing instrument?	X	
7 Did the foundation have at least \$5,000 in assets at any time during the year? If "Yes," complete Part II, col (c), and Part XV	X	
• Established the destablished to the foundation with which the constant of feet and the state of feet and the		
8a Enter the states to which the foundation reports or with which it is registered (see instructions)		
NY		
b If the answer is "Yes" to line 7, has the foundation furnished a copy of Form 990-PF to the Attorney General (or designate)	x	
of each state as required by General Instruction G? If "No," attach explanation 8 b 10 Is the foundation element status as a private operating foundation within the meaning of section 4942(1)(3) or 4942(1)(5) for calendary	Λ	
9 Is the foundation claiming status as a private operating foundation within the meaning of section 4942(j)(3) or 4942(j)(5) for calendar year 2013 or the taxable year beginning in 2013 (see instructions for Part XIV)? If "Yes," complete Part XIV		y
10 Did any persons become substantial contributors during the tax year? If "Yes," attach a schedule listing their names and addresses 10		_ <u>X</u> _
	PF (2	

10-10-13

	<u>091650</u>	<u> </u>	Page 5
Part VII-A Statements Regarding Activities (continued)			
11 At any time during the year, did the foundation, directly or indirectly, own a controlled entity within the meaning of			
section 512(b)(13)? If "Yes," attach schedule (see instructions)	11		<u>X</u>
12 Did the foundation make a distribution to a donor advised fund over which the foundation or a disqualified person had advisory privileges?	·	1	
If "Yes," attach statement (see instructions)	12		<u>X</u>
13° Did the foundation comply with the public inspection requirements for its annual returns and exemption application?	13	Х	
Website address ► N/A			
14 The books are in care of ▶ JOHN GUITON Telephone no. ▶212	503880	0	
Located at ► 218 WEST 20TH STREET, NEW YORK, NY ZIP+4	1001 1	L	
15 Section 4947(a)(1) nonexempt charitable trusts filing Form 990-PF in lieu of Form 1041 - Check here		<u> </u>	
and enter the amount of tax-exempt interest received or accrued during the year	1	I/A	
16 At any time during calendar year 2013, did the foundation have an interest in or a signature or other authority over a bank,		Yes	No
securities, or other financial account in a foreign country?	16		X
See the instructions for exceptions and filing requirements for Form TD F 90-22.1. If "Yes," enter the name of the foreign		1	
country			
Part VII-B Statements Regarding Activities for Which Form 4720 May Be Required		L	
File Form 4720 if any item is checked in the "Yes" column, unless an exception applies.		Yes	No
1a During the year did the foundation (either directly or indirectly):		1.03	110
	No.		
• • • • • • • • • • • • • • • • • • • •	NU		
(2) Borrow money from, lend money to, or otherwise extend credit to (or accept it from) a disqualified person? Yes X	Na		
	No		
(5) Transfer any income or assets to a disqualified person (or make any of either available	.		
for the benefit or use of a disqualified person)?	No		
(6) Agree to pay money or property to a government official? (Exception. Check "No"			
if the foundation agreed to make a grant to or to employ the official for a period after			
termination of government service, if terminating within 90 days.)	No		
b If any answer is "Yes" to 1a(1)-(6), did any of the acts fail to qualify under the exceptions described in Regulations			
section 53.4941(d)-3 or in a current notice regarding disaster assistance (see instructions)?	<u> 1b</u>	1	<u>X</u>
Organizations relying on a current notice regarding disaster assistance check here	-		
c Did the foundation engage in a prior year in any of the acts described in 1a, other than excepted acts, that were not corrected			
before the first day of the tax year beginning in 2013?	<u>1c</u>		<u>X</u>
2 Taxes on failure to distribute income (section 4942) (does not apply for years the foundation was a private operating foundation			
defined in section 4942(j)(3) or 4942(j)(5)):			
a At the end of tax year 2013, did the foundation have any undistributed income (lines 6d and 6e, Part XIII) for tax year(s) beginning			
before 2013?	No		
If "Yes," list the years >			
b Are there any years listed in 2a for which the foundation is not applying the provisions of section 4942(a)(2) (relating to incorrect			
valuation of assets) to the year's undistributed income? (If applying section 4942(a)(2) to all years listed, answer "No" and attach			
statement - see instructions.)	A 2b		
c If the provisions of section 4942(a)(2) are being applied to any of the years listed in 2a, list the years here.			
>		1	
3a Did the foundation hold more than a 2% direct or indirect interest in any business enterprise at any time		1	
during the year?	No		
b If "Yes," did it have excess business holdings in 2013 as a result of (1) any purchase by the foundation or disqualified persons after			
May 26, 1969; (2) the lapse of the 5-year period (or longer period approved by the Commissioner under section 4943(c)(7)) to dispose		1	
of holdings acquired by gift or bequest; or (3) the lapse of the 10-, 15-, or 20-year first phase holding period? (Use Schedule C,			
Form 4720, to determine if the foundation had excess business holdings in 2013.)	A 3b		
4a Did the foundation invest during the year any amount in a manner that would jeopardize its charitable purposes?	4a		X
b Did the foundation make any investment in a prior year (but after December 31, 1969) that could jeopardize its charitable purpose that			
had not been removed from jeopardy before the first day of the tax year beginning in 2013?	4b		X
	Form 99	A DE	(2012)

KIN FOUNDATIO		<u>13-40916</u>	50 Page 6
Form 4/20 May Be F	sequirea (contin	ued)	
	·		
		s LXLINO	
or to carry on, directly or indire	ectly,		
	Ye	s LX No	
n described in section			
	Ye	s X No	
or educational purposes, or f		1	
	Ye	s X No	
der the exceptions described i	n Regulations		
ictions)?		N/A	5b
nere			
rom the tax because it maintai	ined		
		s No	
	•		
, ,			
r-, r	☐ Ye	s X No	
nersonal henefit contract?		1	6b X
ordenia benent contract.			
chalter transaction?	□ v _e	e X No	
		_	7b
	nagere Highly		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
ces, roundation wa	inagers, mgm	•	
compensation.			
(b) Title, and average	(c) Compensation	(d) Contributions to	(e) Expense account, other
hours per week devoted	(If not paid,	and deferred	account, other allowances
'	enter-0-7	compensation	allowalices
PKESIDENI			
0.50	_	_	0.
	<u> </u>	.	<u> </u>
SECKETAKI			
0.50			
	0.	U.	0.
TREASURER			
0.50	0.	0.	0.
-			
	I INONE II		
	enter "NONE."	(d) Contributions to	(a) Evnance
hours per week	(c) Compensation	employee benefit plans and deferred	(e) Expense account, other
devoted to position		compensation	allowances
_	}		
	<u> </u>		
ļ <u>-</u>			
!			
			ļ
			0
	n 4945(e))? or to carry on, directly or indirectly or to carry on, directly or indirectly or indirectly or indirectly or to carry on, directly or indirectly or indirectly or to carry on, directly or indirectly on described in section. (a) or educational purposes, or for der the exceptions described in sections)? Here (b) or the tax because it maintal interval in the section of the transaction? (b) or the transaction? (c) or the transaction? (d) or the transaction? (e) or the transaction? (e) or the transaction? (f) or the transaction? (g) or the transaction? (h) or the transaction?	Form 4720 May Be Required (continuent of the property of the transaction of the position of the po	In 4945(e))? In 4945(e))? In to carry on, directly or indirectly, In the carry on, directly on the carry

	<u>THEA AND LEO RABKIN FOU</u>		<u>-40916</u>	50 Page 7
Part VIII Information About Of Paid Employees, and	fficers, Directors, Trustees, Found Contractors (continued)	lation Managers, Highly		
	ctors for professional services. If none, ent	er "NONE."		
	ch person paid more than \$50,000	(b) Type of service		(c) Compensation
NONE			-	
				
				
Total number of others receiving over \$50,000 for	or professional services		•	0
Part IX-A Summary of Direct C				
List the foundation's four largest direct charitable	e activities during the tax year. Include relevant stat served, conferences convened, research papers pr	istical information such as the	E	xpenses
1 N/A	sorved, commonerate convenies, rescardin papers pr	000000, 010.	+	
2			4	
			\dashv	
3				
4				
-	-		-	
Part IX-B Summary of Program	-Related Investments			
	ments made by the foundation during the tax year o	in lines 1 and 2.	<i></i>	Amount
1 N/A			\dashv	
			-	
2				
			4	
All other program-related investments. See instri	uctions.		 	
3			\bot	
			\dashv	
Total Add lines 1 through 3				

	rm 990-PF (2013) THE DOROTHEA AND LEO RABKIN FOUNDATION	13-4091650	Page 8
Р	Part X Minimum Investment Return (All domestic foundations must complete this part. Foreign foundations	ndations, see instructions.)	
1 -	Fair market value of assets not used (or held for use) directly in carrying out charitable, etc., purposes;		
	Average monthly fair market value of securities	1a 85	,487.
Ь	Average of monthly cash balances	1b 7	,561.
ċ	Fair market value of all other assets	1c	
d	Total (add lines 1a, b, and c)	1d 93	,048.
	Reduction claimed for blockage or other factors reported on lines 1a and		<u> </u>
	1c (attach detailed explanation) 1e 0 .		
2	Acquisition indebtedness applicable to line 1 assets	2	0.
3	Subtract line 2 from line 1d		,048.
4	Cash deemed held for charitable activities. Enter 1 1/2% of line 3 (for greater amount, see instructions)		$\frac{7396}{396}$
5	Net value of noncharitable-use assets. Subtract line 4 from line 3. Enter here and on Part V, line 4		,652.
6	Minimum investment return. Enter 5% of line 5	6 4	$\frac{7532}{583}$.
_	eart XI Distributable Amount (see instructions) (Section 4942(j)(3) and (j)(5) private operating foundations are		<u>, 505.</u>
	foreign organizations check here and do not complete this part.)	io ooraan	
1	Minimum investment return from Part X, line 6	1 4	,583.
2a	Tax on investment income for 2013 from Part VI, line 5	- <u></u>	/ U U U U
b	· · · · · · · · · · · · · · · · · · ·		
C	· · · · · · · · · · · · · · · · · · ·	2c	69.
3	Distributable amount before adjustments. Subtract line 2c from line 1		,514.
4	Recoveries of amounts treated as qualifying distributions	4	0.
5	Add lines 3 and 4		,514.
6	Deduction from distributable amount (see instructions)	6	0.
7	Distributable amount as adjusted. Subtract line 6 from line 5. Enter here and on Part XIII, line 1		,514.
	art XII		, , , , , ,
	Qualifying Distributions (see instructions)		
1	Amounts paid (including administrative expenses) to accomplish charitable, etc., purposes:		
a	Expenses, contributions, gifts, etc total from Part I, column (d), line 26	1a 10	<u>,950.</u>
b	Program-related investments - total from Part IX-B	1b	0.
2	Amounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc., purposes	2	
3	Amounts set aside for specific charitable projects that satisfy the:		
a	Suitability test (prior IRS approval required)	3a	
b	Cash distribution test (attach the required schedule)	3b	
4	Qualifying distributions. Add lines 1a through 3b. Enter here and on Part V, line 8, and Part XIII, line 4	4 10	,950.
5	Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment		
	income. Enter 1% of Part I, line 27b	5	69.
6	Adjusted qualifying distributions. Subtract line 5 from line 4		,881.
	Note. The amount on line 6 will be used in Part V, column (b), in subsequent years when calculating whether the foundation of		
	4940(e) reduction of tax in those years.		

Form **990-PF** (2013)

THE DOROTHEA AND LEO RABKIN FOUNDATION 13-4091650 Form 990-PF (2013) Page 9 Undistributed Income (see instructions) Part XIII (d) (a) (b) (c) Corpus Years prior to 2012 2012 2013 Distributable amount for 2013 from Part XI, 4,514. line 7 2 Undistributed income, if any, as of the end of 2013 0. a Enter amount for 2012 only b Total for prior years: 0 3 Excess distributions carryover, if any, to 2013: a From 2008 5,019. 5,181. **b** From 2009 5,325. c From 2010 5,534. d From 2011 e From 2012 6,028. 27,087. f Total of lines 3a through e 4 Qualifying distributions for 2013 from 10,950. Part XII, line 4: ►\$ a Applied to 2012, but not more than line 2a 0. b Applied to undistributed income of prior 0 years (Election required - see instructions) c Treated as distributions out of corpus 0 (Election required - see instructions) 4,514. d Applied to 2013 distributable amount 6,436 e Remaining amount distributed out of corpus 0. 0. Excess distributions carryover applied to 2013 (If an amount appears in column (d), the same amount must be shown in column (a)) Enter the net total of each column as indicated below: 33,523 a Corpus Add lines 3f, 4c, and 4e Subtract line 5 0

perior years undistributed income. Subtract
line 4b from line 2b
c Enter the amount of prior years' undistributed income for which a notice of deficiency has been issued, or on which the section 4942(a) tax has been previously assessed
d Subtract line 6c from line 6b. Taxable

- d Subtract line 6c from line 6b. Taxable amount - see instructions
- e Undistributed income for 2012. Subtract line 4a from line 2a. Taxable amount see instr.
- f Undistributed income for 2013. Subtract lines 4d and 5 from line 1. This amount must be distributed in 2014
- 7 Amounts treated as distributions out of corpus to satisfy requirements imposed by section 170(b)(1)(F) or 4942(g)(3)
- 8 Excess distributions carryover from 2008 not applied on line 5 or line 7
- 9 Excess distributions carryover to 2014. Subtract lines 7 and 8 from line 6a
- 10 Analysis of line 9:

Analysis of into o.	
a Excess from 2009	5,181.
b Excess from 2010	5,325.
c Excess from 2011	5,534.
d Excess from 2012	6,028.
a Evenee from 2013	6 436

Form **990-PF** (2013)

0.

0

5,019.

28,504

0

0

0.

Form 990-PF (2013) THE DO Part XIV Private Operating	ROTHEA AND I	EO RABKIN I	FOUNDATION		91650 Page 10
			II-A, question 9)	N/A	
1 a If the foundation has received a ruling					
- foundation, and the ruling is effective		=	▶	J	0.10(1)(5)
b Check box to indicate whether the fou		ng foundation described		4942(j)(3) or4	942(j)(5)
2 a Enter the lesser of the adjusted net	Tax year	(5) 0010	Prior 3 years	(4) 0010	(a) Tatal
income from Part I or the minimum	(a) 2013	(b) 2012	(c) 2011	(d) 2010	(e) Total
investment return from Part X for					
each year listed					
b 85% of line 2a					
c Qualifying distributions from Part XII,					
line 4 for each year listed			<u> </u>	_	
d Amounts included in line 2c not					
used directly for active conduct of					
exempt activities		<u></u>			
e Qualifying distributions made directly					
for active conduct of exempt activities	s.				
Subtract line 2d from line 2c Complete 3a, b, or c for the alternative test relied upon:					
a "Assets" alternative test - enter:(1) Value of all assets					
(2) Value of assets qualifying under section 4942(j)(3)(B)(i)					
b "Endowment" alternative test - enter 2/3 of minimum investment return shown in Part X, line 6 for each year listed					
c "Support" alternative test - enter:					
(1) Total support other than gross investment income (interest, dividends, rents, payments on securities loans (section 512(a)(5)), or royalties)					
(2) Support from general public and 5 or more exempt organizations as provided in section 4942(j)(3)(B)(iii)					
(3) Largest amount of support from an exempt organization					
(4) Gross investment income					
Part XV Supplementary In	formation (Comple	te this part only	if the foundation	had \$5,000 or m	ore in assets
at any time during					
1 Information Regarding Founda	_				
a List any managers of the foundation year (but only if they have contributed			tributions received by the	e foundation before the clo	ose of any tax
NONE	<u>.</u>				
b List any managers of the foundation other entity) of which the foundation			(or an equally large port	ion of the ownership of a p	partnership or
NONE					
2 Information Regarding Contrib Check here ► X if the foundation	n only makes contributions	to preselected charitable	organizations and does		
the foundation makes gifts, grants, et	<u>`</u>				<u>a a</u>
a The name, address, and telephone nu	umber or e-mail address of	the person to whom app	lications should be addre	essed:	
b The form in which applications shoul	d be submitted and informa	ation and materials they s	should include:		
c Any submission deadlines:					
d Any restrictions or limitations on awa	irds, such as by geographic	al areas, charitable fields	, kınds of ınstitutions, or	other factors:	

Form **990-PF** (2013)

Page 12

Part XVI-A	Analysis of	Income-Producing	Activities
------------	-------------	------------------	-------------------

Enter gross amounts unless otherwise indicated.	Unrelate	ed business income		ided by section 512, 513, or 514	(e)
1 Program service revenue:	(a) Business code	(b) Amount	Exclu- sion code	(d) Amount	Related or exempt function income
•	COUC				· · · · · · · · · · · · · · · · · · ·
a			 		
			 -		
d					
e					
f			<u> </u>		
g Fees and contracts from government agencies		<u> </u>	-		
2 Membership dues and assessments			<u> </u>		
3 Interest on savings and temporary cash					
investments			1		
4 Dividends and interest from securities			14	3,374.	
5 Net rental income or (loss) from real estate:				5/5/5/	
a Debt-financed property					
b Not debt-financed property					
6 Net rental income or (loss) from personal					
property					
7 Other investment income					
8 Gain or (loss) from sales of assets other	_				
than inventory			18	3,733.	
9 Net income or (loss) from special events					
10 Gross profit or (loss) from sales of inventory					<u> </u>
11 Other revenue:					
a					
b					_
c					
d					
e					·
12 Subtotal. Add columns (b), (d), and (e)	L	0.		7,107.	0.
13 Total. Add line 12, columns (b), (d), and (e)				13	7,107.
(See worksheet in line 13 instructions to verify calculations.)					
Part XVI-B Relationship of Activities to	the Acc	omplishment of Ex	emp	t Purposes	
Line No. Explain below how each activity for which incom	ne is reported	ın column (e) of Part XVI-A	contril	outed importantly to the accord	nplishment of
the foundation's exempt purposes (other than b	y providing fu	inds for such purposes).			
N/A					
					<u> </u>
					
					_
					
	_				
	 				
		 _			
					
323621					Form 900-PF (2012)

Here) de	Jan Guiton	7-10-	2015 PRES	IDENT	shown below (see instr)? X Yes N
	Signature of	officer or trustee	Date	Title		
	Print/Ty	pe preparer's name	Preparen's signature	Date	Check if	PTIN
Paid	KUR	T S. KIESS	112	JUN 1 5 2015	self- employed	P00216949
Prepa Use O		name MARKS PANET	H LLA	<u> </u>	Firm's EIN ▶ 1:	1-3518842
	Firm's a	address ► 88 FROEHLI WOODBURY,			Phone no. 510	5-992-5900
		-		-		Form 990-PF (20

Under penalties of perjury, I declare that I have examined this return, including accompanying schedules and statements, and to the best of my knowledge

and belief, it is true, correct, and complete. Declaration of preparer (other than taxpayer) is based on all information of which preparer has any knowledge

May the IRS discuss this return with the preparer

Form **8868**

(Rev. January 2014)

Department of the Treasury Internal Revenue Service

Application for Extension of Time To File an Exempt Organization Return

► File a separate application for each return.

▶ Information about Form 8868 and its instructions is at www.irs.gov/form8868.

OMB No 1545-1709

• If you a	re filing for an Automatic 3-Month Extension, comple	te only Pa	art I and check this box			ightharpoons
If you a	re filing for an Additional (Not Automatic) 3-Month Ex	tension, d	complete only Part II (on page 2 of	this form).		
Do not co	emplete Part II unless you have already been granted a	an automa	atic 3-month extension on a previous	sly filed Fo	rm 8868	
Electroni	c filing (e-file). You can electronically file Form 8868 if y	you need a	a 3-month automatic extension of tir	ne to file (6	months fo	or a corporation
required t	o file Form 990-T), or an additional (not automatic) 3-mo	nth extens	sion of time. You can electronically f	ile Form 8	868 to requ	est an extension
of time to	file any of the forms listed in Part I or Part II with the ex-	ception of	Form 8870, Information Return for	Transfers A	Associated	With Certain
Personal	Benefit Contracts, which must be sent to the IRS in pap	er format	(see instructions). For more details of	on the elec	tronic filing	of this form,
visit www	.irs.gov/efile and click on e-file for Chanties & Nonprofits	S				
Part I	Automatic 3-Month Extension of Time	e. Only s	submit original (no copies ne	eded).		
A corpora	tion required to file Form 990-T and requesting an autor	matic 6-mo	onth extension - check this box and	complete	-	
Part I only						ightharpoons
All other o	corporations (including 1120-C filers), partnerships, REM	IICs, and t	trusts must use Form 7004 to reques	st an exten	sion of time	9
to file inco	ome tax returns.			Enter file	er's identif	ying number
Type or	Name of exempt organization or other filer, see instru	ctions.				ion number (EIN) or
print						
•	THE DOROTHEA AND LEO RABKII	N FOU	NDATION		13-40	091650
File by the due date for	Number, street, and room or suite no. If a P.O. box, s			Social se	curity num	
filing your return See	C/O J. GUITON, 218 WEST 20'	TH ST	•		•	` '
instructions	City, town or post office, state, and ZIP code. For a fo					
	NEW YORK, NY 10011	•				
Enter the	Return code for the return that this application is for (file	e a separa	ite application for each return)			0 4
			,			
Application	on	Return	Application	Return		
is For		Code	is For			Code
Form 990	or Form 990-EZ	01	Form 990-T (corporation)			07
Form 990	BL _	02	Form 1041-A			08
Form 472	0 (individual)	03	Form 4720 (other than individual)			09
Form 990	PF	04	Form 5227			10
Form 990	T (sec 401(a) or 408(a) trust)	05	Form 6069			11
	T (trust other than above)	06	Form 8870			12
	JOHN GUITON	•				
• The bo	oks are in the care of > 218 WEST 20TH	STREE'	T - NEW YORK, NY 1	0011		
	one No. ► 2125038800		Fax No 🕨			
•	rganization does not have an office or place of business	s in the Ur	nited States, check this box			
	s for a Group Return, enter the organization's four digit			f this is fo	r the whole	group, check this
box ▶ [. If it is for part of the group, check this box	1				• •
1 rec	quest an automatic 3-month (6 months for a corporation					
		-	ition return for the organization name		The extens	ion
ıs fo	or the organization's return for.	-	_			
▶[calendar year or					
▶[X tax year beginning DEC 1, 2013	, an	nd ending <u>NOV 30, 2014</u>		•	
	• • •					
2 If th	e tax year entered in line 1 is for less than 12 months, c	heck reas	on: Initial return	Final retur	n	
	Change in accounting period					
3a If th	us application is for Forms 990 BL, 990 PF, 990 T, 4720,	or 6069.	enter the tentative tax, less any			
	refundable credits. See instructions	,	,	3a	\$	0.
	us application is for Forms 990-PF, 990-T, 4720, or 6069	, enter an	v refundable credits and		-	
	mated tax payments made Include any prior year overp		•	3b	\$	0.
	ance due. Subtract line 3b from line 3a Include your pa		· · · · · · · · · · · · · · · · · · ·	1 55	_	
	using EFTPS (Electronic Federal Tax Payment System).	-	•	3с	\$	0.
	If you are going to make an electronic funds withdrawal		-			
instruction.		,	,	. 100-LU al	.u i oiiii oo	. o co ioi payment

THE DOROTHEA & LEO RABKIN FOUNDATION

Wachovia Securities

Account # 2751-5174

From 12-01-13 Through 11-30-14

Ones.		.		Gain Or Loss			
Open Date	Close Date	Quantity	Security	Cost Basis	Proceeds	Short Term	Long Term
05-27-2014	07-14-2014	2 977	FIRST TRUST TARGET GLOBAL DVD LEADERS	33 53	34 05	0 52	
04-25-2014	07-14-2014	2 618	FIRST TRUST TARGET GLOBAL DVD LEADERS	29 21	29 94	0 73	
03-25-2014	07-14-2014	2 960	FIRST TRUST TARGET GLOBAL DVD LEADERS	32 03	33 86	1 83	
02-25-2014	07-14-2014	1 432	FIRST TRUST TARGET GLOBAL DVD LEADERS	15 33	16 38	1 05	
01-08-2014	07-14-2014	4 132	FIRST TRUST TARGET GLOBAL DVD LEADERS	43 67	47 26	3 59	
12-26-2013	07-14-2014	2 719	FIRST TRUST TARGET GLOBAL DVD LEADERS	28 59	31 10	2 51	
10-25-2013	07-14-2014	2 427	FIRST TRUST TARGET GLOBAL DVD LEADERS	25 51	27 76	2 25	
11-25-2013	07-14-2014	2.075	FIRST TRUST TARGET GLOBAL DVD LEADERS	21 62	23 73	2 11	
05-28-2013	07-14-2014	2 838	FIRST TRUST TARGET GLOBAL DVD LEADERS	29 19	32 46		3 27
09-25-2013	07-14-2014		FIRST TRUST TARGET GLOBAL DVD LEADERS	36 75	41 86	5 11	
04-01-2013	07-14-2014	656 000	FIRST TRUST TARGET GLOBAL DVD LEADERS	6,494 40	7,503 06		1,008 66
07-25-2013	07-14-2014		FIRST TRUST TARGET GLOBAL DVD LEADERS	37 06	42 86	5 80	
08-26-2013	07-14-2014		FIRST TRUST TARGET GLOBAL DVD LEADERS	13 63	16 13	2 50	
06-25-2013	07-14-2014		FIRST TRUST TARGET GLOBAL DVD LEADERS	50 53	61 75		11 22
06-25-2014	07-17-2014		FIRST TRUST SELECT DSIP PORT	29.12	29 01	-0 11	
04-25-2014	07-17-2014		FIRST TRUST SELECT DSIP PORT	16 05	16 74	0 69	
03-25-2014	07-17-2014		FIRST TRUST SELECT DSIP PORT	24 60	25 87	1 27	
01-29-2014	07-17-2014		FIRST TRUST SELECT DSIP PORT	10 42	11 20	0 78	
12-26-2013	07-17-2014		FIRST TRUST SELECT DSIP PORT	29 49	32 28	2 79	
12-26-2013	07-17-2014		FIRST TRUST SELECT DSIP PORT	1 38	1 52	0 14	
10-25-2013	07-17-2014		FIRST TRUST SELECT DSIP PORT	11 80	13 03	1 23	
09-25-2013	07-17-2014		FIRST TRUST SELECT DSIP PORT	20 84	23 46	2 62	
07-25-2013	07-17-2014		FIRST TRUST SELECT DSIP PORT	9 49	10 81	1 32	
08-26-2013	07-17-2014		FIRST TRUST SELECT DSIP PORT	731	8 54	1 23	

ANALYTICAL PORTFOLIO SERVICES

REALIZED GAINS AND LOSSES

THE DOROTHEA & LEO RABKIN FOUNDATION

Wachovia Securities

Account # 2751-5174

From 12-01-13 Through 11-30-14

0	Class			•		Gain O	r Loss
Open Date	Close Date	Quantity	Security	Cost Basis	Proceeds	Short Term	Long Term
06-25-2013	07-17-2014	2 162	FIRST TRUST SELECT DSIP PORT	21 71	26 44		4 73
04-16-2013	07-17-2014	622 000	FIRST TRUST SELECT DSIP PORT	6,157 80	7,607 36		1,449 56
07-25-2014	08-21-2014	2 235	FIRST TRUST HIGH DIVIDEND EQUITY PORT	27 59	26 79	-0 80	
10-25-2013	08-21-2014	2 122	FIRST TRUST HIGH DIVIDEND EQUITY PORT	26 18	25 44	-0 74	
11-25-2013	08-21-2014	2 144	FIRST TRUST HIGH DIVIDEND EQUITY PORT	26 26	25 70	-0 56	
06-25-2014	08-21-2014	2 310	FIRST TRUST HIGH DIVIDEND EQUITY PORT	28 07	27 69	-0 38	
12-26-2013	08-21-2014	2 202	FIRST TRUST HIGH DIVIDEND EQUITY PORT	26 34	26 39	0 05	
12-26-2013	08-21-2014	25 507	FIRST TRUST HIGH DIVIDEND EQUITY PORT	305 07	305 74	0 67	
01-27-2014	08-21-2014	2 095	FIRST TRUST HIGH DIVIDEND EQUITY PORT	24 93	25 11	0 18	
09-25-2013	08-21-2014	2 185	FIRST TRUST HIGH DIVIDEND EQUITY PORT	25 61	26 19	0 58	
07-25-2013	08-21-2014	2 178	FIRST TRUST HIGH DIVIDEND EQUITY PORT	25 45	26 11		0 66
05-27-2014	08-21-2014	2 407	FIRST TRUST HIGH DIVIDEND EQUITY PORT	27 99	28 85	0 86	
04-25-2014	08-21-2014	2 432	FIRST TRUST HIGH DIVIDEND EQUITY PORT	27 90	29 15	1 25	
03-25-2014	08-21-2014	2 355	FIRST TRUST HIGH DIVIDEND EQUITY PORT	26 63	28 23	1 60	
08-26-2013	08-21-2014	2 282	FIRST TRUST HIGH DIVIDEND EQUITY PORT	25 53	27 35	1 82	
02-25-2014	08-21-2014	2 236	FIRST TRUST HIGH DIVIDEND EQUITY PORT	25 00	26 80	1 80	
02-25-2014	08-21-2014	46 274	FIRST TRUST HIGH DIVIDEND EQUITY PORT	517 37	554 66	37 29	
05-28-2013	08-21-2014	2 267	FIRST TRUST HIGH DIVIDEND EQUITY PORT	25 28	27 17		1 89
06-25-2013	08-21-2014	2 306	FIRST TRUST HIGH DIVIDEND EQUITY PORT	25 36	27 64		2 28
04-25-2013	08-21-2014	2 356	FIRST TRUST HIGH DIVIDEND EQUITY PORT	25 20	28 24		3 04
10-17-2012	08-21-2014	678 000	FIRST TRUST HIGH DIVIDEND EQUITY PORT	6,999 32	8,126 84		1,127 52
03-25-2013	08-21-2014		FIRST TRUST HIGH DIVIDEND EQUITY PORT	25 45	29 57		4 12
02-25-2013	08-21-2014	2 529	FIRST TRUST HIGH DIVIDEND EQUITY PORT	25 36	30 31		4 95
01-25-2013	08-21-2014	2 562	FIRST TRUST HIGH DIVIDEND EQUITY PORT	25 27	30 71		5 44

This report was compiled from information provided by various investment brokers and an independent pricing service

MARKS PANETH

ACCOUNTANTS & ADVISORS

THE DOROTHEA & LEO RABKIN FOUNDATION

Wachovia Securities

Account # 2751-5174

From 12-01-13 Through 11-30-14

						Gain O	r Loss
Open	Close			Cost			
Date	Date	Quantity	Security	Basis	Proceeds	Short Term	Long Term
01-10-2013	08-21-2014	3 131	FIRST TRUST HIGH DIVIDEND EQUITY PORT	30.48	37.53		7 05
12-26-2012	08-21-2014	2 62 1	FIRST TRUST HIGH DIVIDEND EQUITY PORT	25 26	31 42		6 16
11-26-2012	08-21-2014	2 798	FIRST TRUST HIGH DIVIDEND EQUITY PORT	25 15	33 55		8 40
10-11-2011	10-17-2014	40,000	WELLS FARGO BANK NA CD 10/17/23 2 000% Due 10-17-23	40,000 00	40,000 00		0 00
TOTAL GAIL	NS				•	86 17	3,648 95
TOTAL LOS	SES					-2 59	0 00
				61,629.11	65,361.64	83.58	3,648.95
TOTAL REA	LIZED GAIN/L	OSS	3,732 53				

THE DOROTHEA AND LEO RABKIN FOUNDATION

Minutes of the Meeting of the Board of Directors

A meeting of the Board of Directors of The Dorothea and Leo Rabkin Foundation (the "Foundation"), was held on Sunday, March 29, 2015 at 3pm via conference telephone allowing all persons participating in the meeting to hear each other at the same time. All three directors of the Foundation (John Guiton, Nancy Karlins and Susan Larsen) were in attendance.

The following actions were taken at the meeting:

- 1. John Guiton tendered his resignation as Vice President, Treasurer and Assistant Secretary of the Foundation and his resignation was accepted by the Board.
- 2. Nancy Karlins was elected Vice President, Treasurer and Assistant Secretary of the Foundation, filling the vacancy created by the resignation of John Guiton.
- 3. John Guiton was elected President of the Foundation, filling the vacancy created by the passing of Leo Rabkin.
- 4. After giving effect to the actions described above, the corporate officers of the Foundation are as follows:

John Guiton	President
Nancy Karlins	Vice President, Treasurer and Assistant Secretary
Susan Larsen	Vice President, Secretary and Assistant Treasurer

- 5. It was agreed that Susan Larsen also would serve as the Foundation's Executive Director.
- 6. Susan Larsen agreed to draft an updated mission statement for the Foundation for consideration by the Board.

There being no further business, the meeting was adjourned.

* * *

THE DOROTHEA & LEO RABKIN FOUNDATION

Wachovia Securities

Account # 2751-5174

From 12-01-13 Through 11-30-14

				_		Gain O	r Loss
Open Date	Close Date	Quantity	Security	Cost Basis	Proceeds	Short Term	Long Term
05-27-2014	07-14-2014	2 977	FIRST TRUST TARGET GLOBAL DVD LEADERS	33 53	34 05	0 52	
04-25-2014	07-14-2014	2 618	FIRST TRUST TARGET 29 2 GLOBAL DVD LEADERS		29 94	0 73	
03-25-2014	07-14-2014	2 960	FIRST TRUST TARGET GLOBAL DVD LEADERS	32 03	33 86	1 83	
02-25-2014	07-14-2014	1 432	FIRST TRUST TARGET GLOBAL DVD LEADERS	15 33	16 38	1 05	
01-08-2014	07-14-2014	4 132	FIRST TRUST TARGET GLOBAL DVD LEADERS	43 67	47 26	3 59	
12-26-2013	07-14-2014	2 719	FIRST TRUST TARGET GLOBAL DVD LEADERS	28 59	31 10	2 51	
10-25-2013	07-14-2014	2 427	FIRST TRUST TARGET GLOBAL DVD LEADERS	25 51	27 76	2 25	
11-25-2013	07-14-2014	2 075	FIRST TRUST TARGET GLOBAL DVD LEADERS	21 62	23 73	2 11	
05-28-2013	07-14-2014	2 838	FIRST TRUST TARGET GLOBAL DVD LEADERS	29 19	32 46		3 27
09-25-2013	07-14-2014	3 660	FIRST TRUST TARGET GLOBAL DVD LEADERS	36 75	41 86	5 11	
04-01-2013	07-14-2014	656 000	FIRST TRUST TARGET GLOBAL DVD LEADERS	6,494 40	7,503 06		1,008 66
07-25-2013	07-14-2014	3 747	FIRST TRUST TARGET GLOBAL DVD LEADERS	37 06	42 86	5 80	
08-26-2013	07-14-2014	1 410	FIRST TRUST TARGET GLOBAL DVD LEADERS	13 63	16 13	2 50	
06-25-2013	07-14-2014	5 399	FIRST TRUST TARGET GLOBAL DVD LEADERS	50 53	61 75		11 22
06-25-2014	07-17-2014	2 372	FIRST TRUST SELECT DSIP PORT	29 12	29 01	-0 11	
04-25-2014	07-17-2014	1 369	FIRST TRUST SELECT DSIP PORT	16 05	16 74	0 69	
03-25-2014	07-17-2014	2 115	FIRST TRUST SELECT DSIP PORT	24 60	25 87	1 27	
01-29-2014	07-17-2014	0 916	FIRST TRUST SELECT DSIP PORT	10 42	11 20	0 78	
12-26-2013	07-17-2014	2 639	FIRST TRUST SELECT DSIP PORT	29 49	32 28	2 79	
12-26-2013	07-17-2014	0 124	FIRST TRUST SELECT DSIP PORT	1 38	1 52	0 14	
10-25-2013	07-17-2014	1 065	FIRST TRUST SELECT DSIP PORT	11 80	13 03	1 23	
09-25-2013	07-17-2014	1 918	FIRST TRUST SELECT DSIP PORT	20 84	23 46	2 62	
07-25-2013	07-17-2014	0 884	FIRST TRUST SELECT DSIP PORT	9 49	10 81	1 32	
08-26-2013	07-17-2014	0 698	FIRST TRUST SELECT DSIP PORT	7 31	8 54	1 23	

THE DOROTHEA & LEO RABKIN FOUNDATION

Wachovia Securities

Account # 2751-5174

From 12-01-13 Through 11-30-14

0	C lass					Gain O	r Loss
Open Date	Close Date	Quantity	Security	Cost Basis	Proceeds	Short Term	Long Term
06-25-2013	07-17-2014	2 162	FIRST TRUST SELECT DSIP PORT	21 71	26 44		4 73
04-16-2013	07-17-2014	622 000	FIRST TRUST SELECT DSIP PORT	6,157 80	7,607 36		1,449 56
07-25-2014	08-21-2014	2 235	FIRST TRUST HIGH DIVIDEND EQUITY PORT	27 59	26 79	-0 80	
10-25-2013	08-21-2014	2 122	FIRST TRUST HIGH DIVIDEND EQUITY PORT	26 18	25 44	-0 74	
11-25-2013	08-21-2014	2 144	FIRST TRUST HIGH DIVIDEND EQUITY PORT	26 26	25 70	-0 56	
06-25-2014	08-21-2014	2 310	FIRST TRUST HIGH DIVIDEND EQUITY PORT	28 07	27 69	-0 38	
12-26-2013	08-21-2014	2 202	FIRST TRUST HIGH DIVIDEND EQUITY PORT	26 34	26 39	0.05	
12-26-2013	08-21-2014	25 507	FIRST TRUST HIGH DIVIDEND EQUITY PORT	305 07	305 74	0 67	
01-27-2014	08-21-2014	2 095	FIRST TRUST HIGH DIVIDEND EQUITY PORT	24 93	25 11	0 18	
09-25-2013	08-21-2014	2 185	FIRST TRUST HIGH DIVIDEND EQUITY PORT	25 61	26 19	0 58	
07-25-2013	08-21-2014	2 178	FIRST TRUST HIGH DIVIDEND EQUITY PORT	25 45	26 11		0 66
05-27-2014	08-21-2014	2 407	FIRST TRUST HIGH DIVIDEND EQUITY PORT	27 99	28 85	0 86	
04-25-2014	08-21-2014	2 432	FIRST TRUST HIGH DIVIDEND EQUITY PORT	27 90	29 15	1 25	
03-25-2014	08-21-2014	2 355	FIRST TRUST HIGH DIVIDEND EQUITY PORT	26 63	28 23	1 60	
08-26-2013	08-21-2014	2 282	FIRST TRUST HIGH DIVIDEND EQUITY PORT	25 53	27 35	1 82	
02-25-2014	08-21-2014	2 236	FIRST TRUST HIGH DIVIDEND EQUITY PORT	25 00	26 80	1 80	
02-25-2014	08-21-2014	46 274	FIRST TRUST HIGH DIVIDEND EQUITY PORT	517.37	554 66	37 29	
05-28-2013	08-21-2014	2 267	FIRST TRUST HIGH DIVIDEND EQUITY PORT	25 28	27 17		1 89
06-25-2013	08-21-2014	2 306	FIRST TRUST HIGH DIVIDEND EQUITY PORT	25 36	27 64		2 28
04-25-2013	08-21-2014	2 356	FIRST TRUST HIGH DIVIDEND EQUITY PORT	25 20	28 24		3 04
10-17-2012	08-21-2014	678 000	FIRST TRUST HIGH DIVIDEND EQUITY PORT	6,999 32	8,126 84		1,127 52
03-25-2013	08-21-2014	2 467	FIRST TRUST HIGH DIVIDEND EQUITY PORT	25 45	29 57		4 12
02-25-2013	08-21-2014	2 529	FIRST TRUST HIGH DIVIDEND EQUITY PORT	25 36	30 31		4 95
01-25-2013	08-21-2014	2 562	FIRST TRUST HIGH DIVIDEND EQUITY PORT	25 27	30 71		5 44

THE DOROTHEA & LEO RABKIN FOUNDATION

Wachovia Securities

Account # 2751-5174

From 12-01-13 Through 11-30-14

						Gain O	r Loss
Open Date	Close Date	Quantity	Security	Cost Basis	Proceeds	Short Term	Long Term
01-10-2013	08-21-2014	3 131	FIRST TRUST HIGH DIVIDEND EQUITY PORT	30 48	37 53		7 05
12-26-2012	08-21-2014	2 621	FIRST TRUST HIGH DIVIDEND EQUITY PORT	25 26	31 42		6 16
11-26-2012	08-21-2014	2 798	FIRST TRUST HIGH DIVIDEND EQUITY PORT	25 15	33 55		8 40
10-11-2011	10-17-2014	40,000	WELLS FARGO BANK NA CD 10/17/23 2 000% Due 10-17-23	40,000 00	40,000 00		0 00
TOTAL GAI	NS					86 17	3,648 95
TOTAL LOS	SES					-2 59	0 00
				61,629.11	65,361.64	83.58	3,648.95
TOTAL REA	LIZED GAIN/I	LOSS	3,732 53				

ANALYTICAL PORTFOLIO SERVICES

PURCHASE AND SALE

THE DOROTHEA & LEO RABKIN FOUNDATION

Wachovia Securities

Account # 2751-5174

From 12-01-13 To 11-30-14

Trade Date	Settle Date	Quantity	Security	Unit Price	Amount
DUDCHAC	B.C.				
PURCHAS:		2 2 2 2	FIRST TRUST INCU BY URBY		
12-26-2013	12-26-2013		FIRST TRUST HIGH DIVIDEND EQUITY PORT	11.96	26.34
12-26-2013	12-26-2013	25.507	FIRST TRUST HIGH DIVIDEND EQUITY PORT	11.96	305.07
01-27-2014	01-27-2014	2.095	FIRST TRUST HIGH DIVIDEND EQUITY PORT	11.90	24.93
02-25-2014	02-25-2014	2.236	FIRST TRUST HIGH DIVIDEND	11.18	25.00
02-25-2014	02-25-2014	46.274	EQUITY PORT FIRST TRUST HIGH DIVIDEND	11.18	517.37
03-25-2014	03-25-2014	2 255	EQUITY PORT FIRST TRUST HIGH DIVIDEND	11.21	26.62
03-23-2014	03-23-2014	2.333	EQUITY PORT	11.31	26.63
04-25-2014	04-25-2014	2.432	FIRST TRUST HIGH DIVIDEND EQUITY PORT	11.47	27 90
05-27-2014	05-27-2014	2.407	FIRST TRUST HIGH DIVIDEND	11.63	27.99
06-25-2014	06-25-2014	2.310	EQUITY PORT FIRST TRUST HIGH DIVIDEND	12.15	28.07
07-25-2014	07-25-2014	2.235	EQUITY PORT FIRST TRUST HIGH DIVIDEND	12.34	27.59
			EQUITY PORT		
08-19-2014	08-22-2014	999.000	FIRST TRUST HIGH DIVIDEND EQUITY PORT	9.65	9,638.45
09-25-2014	09-25-2014	6.223	FIRST TRUST HIGH DIVIDEND EQUITY PORT	9.23	57.44
11-25-2014	11-25-2014	3.715	FIRST TRUST HIGH DIVIDEND EQUITY PORT	9 57	35.57
12-26-2013	12-26-2013	0.124	FIRST TRUST SELECT DSIP PORT	11.13	1.38
12-26-2013	12-26-2013	2.639	FIRST TRUST SELECT DSIP PORT	11.17	29.49
01-29-2014	01-29-2014	0.916	FIRST TRUST SELECT DSIP PORT	11.38	10.42
03-25-2014	03-25-2014	2.115	FIRST TRUST SELECT DSIP PORT	11 63	24.60
04-25-2014	04-25-2014	1.369	FIRST TRUST SELECT DSIP PORT	11.72	16.05
06-25-2014	06-25-2014	2.372	FIRST TRUST SELECT DSIP PORT	12.28	29.12
07-15-2014	07-18-2014	790.000	FIRST TRUST SELECT DSIP PORT	9.90	7,821.00
08-25-2014	08-25-2014		FIRST TRUST SELECT DSIP PORT	9.79	8.06
09-25-2014	09-25-2014		FIRST TRUST SELECT DSIP PORT	9.80	18.51
10-27-2014	10-27-2014		FIRST TRUST SELECT DSIP PORT	9.60	10.23
11-25-2014	11-25-2014	1.641	FIRST TRUST SELECT DSIP PORT	10.11	16.59

This report was compiled from information provided by various investment brokers and an independent pricing service

ACCOUNTANTS & ADVISOPS

ANALYTICAL PORTFOLIO SERVICES PURCHASE AND SALE

THE DOROTHEA & LEO RABKIN FOUNDATION

Wachovia Securities

Account # 2751-5174

From 12-01-13 To 11-30-14

Trade Date	Settle Date	Quantity	Security	Unit Price	Amount
12-26-2013	12-26-2013	2.719	FIRST TRUST TARGET GLOBAL DVD LEADERS	10.51	28.59
01-08-2014	01-08-2014	4.132	FIRST TRUST TARGET GLOBAL DVD LEADERS	10.57	43.67
02-25-2014	02-25-2014	1.432	FIRST TRUST TARGET GLOBAL DVD LEADERS	10.71	15.33
03-25-2014	03-25-2014	2.960	FIRST TRUST TARGET GLOBAL DVD LEADERS	10.82	32.03
04-25-2014	04-25-2014	2.618	FIRST TRUST TARGET GLOBAL DVD LEADERS	11.16	29 21
05-27-2014	05-27-2014	2.977	FIRST TRUST TARGET GLOBAL DVD LEADERS	11.26	33.53
07-10-2014	07-15-2014	810.000	FIRST TRUST TARGET GLOBAL DVD LEADERS	9.90	8,019.00
08-25-2014	08-25-2014	2.591	FIRST TRUST TARGET GLOBAL DVD LEADERS	9.78	25 35
09-25-2014	09-25-2014	3.151	FIRST TRUST TARGET GLOBAL DVD LEADERS	9.39	29.58
10-27-2014	10-27-2014	2.297	FIRST TRUST TARGET GLOBAL DVD LEADERS	9.10	20.91
10-27-2014	10-27-2014	3.853	FIRST TRUST TARGET GLOBAL DVD LEADERS	9.17	35.32
11-25-2014	11-25-2014	3.083	FIRST TRUST TARGET GLOBAL DVD LEADERS	9.46	29.18
03-01-2014	03-04-2014	659.196	HIGHLAND FUNDS I LONG SHRT EQ C	15.18	10,006.00
10-20-2014	10-20-2014	30,000	HSBC BANK USA NA 11/10/27 2.375% Due 11-10-27	100.00	30,000.00
				-	67,101.50
SALES					
08-21-2014	08-21-2014	2.235	FIRST TRUST HIGH DIVIDEND EQUITY PORT	11.99	26 79
08-21-2014	08-21-2014	2.122	FIRST TRUST HIGH DIVIDEND EQUITY PORT	11.99	25.44
08-21-2014	08-21-2014	2.144	FIRST TRUST HIGH DIVIDEND EQUITY PORT	11.99	25.70
08-21-2014	08-21-2014	2.310	FIRST TRUST HIGH DIVIDEND EQUITY PORT	11.99	27.69

ANALYTICAL PORTFOLIO SERVICES PURCHASE AND SALE

THE DOROTHEA & LEO RABKIN FOUNDATION

Wachovia Securities

Account # 2751-5174

From 12-01-13 To 11-30-14

Trade Date	Settle Date	Quantity	Security	Unit Price	Amount
08-21-2014	08-21-2014	2.202	FIRST TRUST HIGH DIVIDEND EQUITY PORT	11.98	26.39
08-21-2014	08-21-2014	25.507	FIRST TRUST HIGH DIVIDEND EQUITY PORT	11.99	305 74
08-21-2014	08-21-2014	2.095	FIRST TRUST HIGH DIVIDEND EQUITY PORT	11.99	25.11
08-21-2014	08-21-2014	2.185	FIRST TRUST HIGH DIVIDEND EQUITY PORT	11.99	26.19
08-21-2014	08-21-2014	2.178	FIRST TRUST HIGH DIVIDEND EQUITY PORT	11.99	26.11
08-21-2014	08-21-2014	2.407	FIRST TRUST HIGH DIVIDEND . EQUITY PORT	11.99	28.85
08-21-2014	08-21-2014	2.432	FIRST TRUST HIGH DIVIDEND EQUITY PORT	11.99	29.15
08-21-2014	08-21-2014	2.355	FIRST TRUST HIGH DIVIDEND EQUITY PORT	11.99	28.23
08-21-2014	08-21-2014	2.282	FIRST TRUST HIGH DIVIDEND EQUITY PORT	11.99	27.35
08-21-2014	08-21-2014	2.236	FIRST TRUST HIGH DIVIDEND EQUITY PORT	11.99	26.80
08-21-2014	08-21-2014	46.274	FIRST TRUST HIGH DIVIDEND EQUITY PORT	11.99	554.66
08-21-2014	08-21-2014	2.267	FIRST TRUST HIGH DIVIDEND EQUITY PORT	11.99	27.17
08-21-2014	08-21-2014	2.306	FIRST TRUST HIGH DIVIDEND EQUITY PORT	11.99	27.64
08-21-2014	08-21-2014	2.356	FIRST TRUST HIGH DIVIDEND EQUITY PORT	11 99	28.24
08-21-2014	08-21-2014	678.000	FIRST TRUST HIGH DIVIDEND EQUITY PORT	11.99	8,126.84
08-21-2014	08-21-2014	2.467	FIRST TRUST HIGH DIVIDEND EQUITY PORT	11.99	29.57
08-21-2014	08-21-2014	2.529	FIRST TRUST HIGH DIVIDEND EQUITY PORT	11.98	30.31
08-21-2014	08-21-2014	2.562	FIRST TRUST HIGH DIVIDEND	11.99	30 71
08-21-2014	08-21-2014	3.131	EQUITY PORT FIRST TRUST HIGH DIVIDEND	11.99	37.53
08-21-2014	08-21-2014	2.621	EQUITY PORT FIRST TRUST HIGH DIVIDEND EQUITY PORT	11.99	31.42

ANALYTICAL PORTFOLIO SERVICES

PURCHASE AND SALE

THE DOROTHEA & LEO RABKIN FOUNDATION

Wachovia Securities

Account # 2751-5174

From 12-01-13 To 11-30-14

Trade	Settle			Unit	
Date	Date	Quantity	Security	Price	Amount
08-21-2014	08-21-2014	2.798	FIRST TRUST HIGH DIVIDEND EQUITY PORT	11.99	33.55
07-17-2014	07-17-2014	2.372	FIRST TRUST SELECT DSIP PORT	12.23	29 01
07-17-2014	07-17-2014	1.369	FIRST TRUST SELECT DSIP PORT	12.23	16.74
07-17-2014	07-17-2014	2.115	FIRST TRUST SELECT DSIP PORT	12.23	25.87
07-17-2014	07-17-2014	0.916	FIRST TRUST SELECT DSIP PORT	12.23	11.20
07-17-2014	07-17-2014	2.639	FIRST TRUST SELECT DSIP PORT	12.23	32 28
07-17-2014	07-17-2014	0.124	FIRST TRUST SELECT DSIP PORT	12.26	1.52
07-17-2014	07-17-2014	1.065	FIRST TRUST SELECT DSIP PORT	12.23	13.03
07-17-2014	07-17-2014	1.918	FIRST TRUST SELECT DSIP PORT	12.23	23.46
07-17-2014	07-17-2014	0.884	FIRST TRUST SELECT DSIP PORT	12.23	10.81
07-17-2014	07-17-2014	0.698	FIRST TRUST SELECT DSIP PORT	12.23	8.54
07-17-2014	07-17-2014	2.162	FIRST TRUST SELECT DSIP PORT	12.23	26.44
07-17-2014	07-17-2014	622.000	FIRST TRUST SELECT DSIP PORT	12 23	7,607.36
07-14-2014	07-14-2014	2.977	FIRST TRUST TARGET GLOBAL DVD LEADERS	11.44	34.05
07-14-2014	07-14-2014	2.618	FIRST TRUST TARGET GLOBAL DVD LEADERS	11.44	29.94
07-14-2014	07-14-2014	2.960	FIRST TRUST TARGET GLOBAL DVD LEADERS	11.44	33.86
07-14-2014	07-14-2014	1.432	FIRST TRUST TARGET GLOBAL DVD LEADERS	11.44	16.38
07-14-2014	07-14-2014	4.132	FIRST TRUST TARGET GLOBAL DVD LEADERS	11.44	47.26
07-14-2014	07-14-2014	2.719	FIRST TRUST TARGET GLOBAL DVD LEADERS	11.44	31.10
07-14-2014	07-14-2014	2.427	FIRST TRUST TARGET GLOBAL DVD LEADERS	11.44	27.76
07-14-2014	07-14-2014	2.075	FIRST TRUST TARGET GLOBAL DVD LEADERS	11.44	23.73
07-14-2014	07-14-2014	2.838	FIRST TRUST TARGET GLOBAL DVD LEADERS	11 44	32.46
07-14-2014	07-14-2014	3.660	FIRST TRUST TARGET GLOBAL DVD LEADERS	11.44	41.86
07-14-2014	07-14-2014	656.000	FIRST TRUST TARGET GLOBAL DVD LEADERS	11.44	7,503.06
07-14-2014	07-14-2014	3.747	FIRST TRUST TARGET GLOBAL DVD LEADERS	11.44	42.86
07-14-2014	07-14-2014	1.410	FIRST TRUST TARGET GLOBAL DVD LEADERS	11.44	16.13

This report was compiled from information provided by various investment brokers and an independent pricing service

ACCOUNTANTS & ADVISORS

ANALYTICAL PORTFOLIO SERVICES PURCHASE AND SALE

THE DOROTHEA & LEO RABKIN FOUNDATION

Wachovia Securities

Account # 2751-5174

From 12-01-13 To 11-30-14

Trade Date	Settle Date	Quantity	Security	Unit Price	Amount
07-14-2014	07-14-2014	5.399	FIRST TRUST TARGET GLOBAL DVD LEADERS	11.44	61.75
10-17-2014	10-17-2014	40,000	WELLS FARGO BANK NA CD 10/17/23 2.000% Due 10-17-23	100.00	40,000.00
				-	65,361.64
ADJUST CA	A DITA I				
	12-20-2013	121.030	GNMA II PASS THRU POOL 3798 6.500% Due 12-20-35	100.00	121.03
01-21-2014	01-21-2014	53.350	GNMA II PASS THRU POOL 3798 6.500% Due 12-20-35	100.00	53.35
02-20-2014	02-20-2014	80.170	GNMA II PASS THRU POOL 3798 6.500% Due 12-20-35	100.00	80.17
03-20-2014	03-20-2014	28 340	GNMA II PASS THRU POOL 3798 6.500% Due 12-20-35	100 00	28.34
04-21-2014	04-21-2014	157 970	GNMA II PASS THRU POOL 3798 6.500% Due 12-20-35	100.00	157.97
05-20-2014	05-20-2014	90.020	GNMA II PASS THRU POOL 3798 6.500% Due 12-20-35	100.00	90.02
06-20-2014	06-20-2014	207.910	GNMA II PASS THRU POOL 3798 6.500% Due 12-20-35	100.00	207.91
07-21-2014	07-21-2014	153.230	GNMA II PASS THRU POOL 3798 6.500% Due 12-20-35	100.00	153.23
08-20-2014	08-20-2014	97.350	GNMA II PASS THRU POOL 3798 6.500% Due 12-20-35	100.00	97.35
09-22-2014	09-22-2014	119.190	GNMA II PASS THRU POOL 3798 6.500% Due 12-20-35	100.00	119.19
10-20-2014	10-20-2014	132.960	GNMA II PASS THRU POOL 3798 6.500% Due 12-20-35	100.00	132.96
11-20-2014	11-20-2014	8.470	GNMA II PASS THRU POOL 3798 6.500% Due 12-20-35	100.00	8.47
12-20-2013	12-20-2013	74.330	GNMA PASS THRU POOL 3460 6.000% Due 10-20-33	100.00	74.33
01-21-2014	01-21-2014	78.190	GNMA PASS THRU POOL 3460 6.000% Due 10-20-33	100.00	78.19
02-20-2014	02-20-2014	62.860	GNMA PASS THRU POOL 3460 6.000% Due 10-20-33	100.00	62.86
03-20-2014	03-20-2014	67.850	GNMA PASS THRU POOL 3460 6.000% Due 10-20-33	100.00	67 85

ANALYTICAL PORTFOLIO SERVICES PURCHASE AND SALE

THE DOROTHEA & LEO RABKIN FOUNDATION

Wachovia Securities

Account # 2751-5174

From 12-01-13 To 11-30-14

Trade Date	Settle Date	Quantity	Security	Unit Price	Amount
	- Date	Quantity	Security		Amount
04-21-2014	04-21-2014	44.070	GNMA PASS THRU POOL 3460 6.000% Due 10-20-33	100.00	44 07
05-20-2014	05-20-2014	77.950	GNMA PASS THRU POOL 3460 6.000% Due 10-20-33	100.00	77.95
06-20-2014	06-20-2014	64.220	GNMA PASS THRU POOL 3460 6.000% Due 10-20-33	100.00	. 64.22
07-21-2014	07-21-2014	52 140	GNMA PASS THRU POOL 3460 6.000% Due 10-20-33	100.00	52.14
08-20-2014	08-20-2014	65.390	GNMA PASS THRU POOL 3460 6.000% Due 10-20-33	100.00	65.39
09-22-2014	09-22-2014	65 860	GNMA PASS THRU POOL 3460 6.000% Due 10-20-33	100.00	65.86
10-20-2014	10-20-2014	86.530	GNMA PASS THRU POOL 3460 6.000% Due 10-20-33	100 00	86.53
11-20-2014	11-20-2014	46.340	GNMA PASS THRU POOL 3460 6.000% Due 10-20-33	100.00	46.34
					2,035.72

THE DOROTHEA & LEO RABKIN FOUNDATION

Wachovia Securities

Account # 2751-5174

From 12-01-13 Through 11-30-14

Ex-Date	Pay-Date	Security	Amount
CASH AND	EQUIVALE	NTS	
	12-31-2013	CASH	0.10
01-31-2014	01-31-2014	CASH	0.10
02-28-2014	02-28-2014	CASH	0.09
03-31-2014	03-31-2014	CASH	0.04
04-30-2014	04-30-2014	CASH	0.02
05-30-2014	05-30-2014	CASH	0.02
06-30-2014	06-30-2014	CASH	0.02
07-31-2014	07-31-2014	CASH	0.02
08-29-2014	08-29-2014	CASH	0.02
09-30-2014	09-30-2014	CASH	0.02
10-31-2014	10-31-2014	CASH	0.15
11-28-2014	11-28-2014	CASH	0.10
			0.70
	ATES OF DE		
01-17-2014	01-17-2014	WELLS FARGO BANK NA CD 10/17/23	201.64
		2.000% Due 10-17-23	
01-27-2014	01-27-2014	HSBC BK USA CD	157.53
		3.125% Due 01-27-20	
04-17-2014	04-17-2014	WELLS FARGO BANK NA CD 10/17/23	197.26
		2.000% Due 10-17-23	
07-17-2014	07-17-2014	WELLS FARGO BANK NA CD 10/17/23	199.45
		2.000% Due 10-17-23	
07-28-2014	07-28-2014	HSBC BK USA CD	154.97
		3.125% Due 01-27-20	
10-17-2014	10-17-2014	WELLS FARGO BANK NA CD 10/17/23 2.000% Due 10-17-23	201.64
			1,112.49
EQUITY F	UNDS		
	12-26-2013	FIRST TRUST HIGH DIVIDEND EQUITY PORT	26.34
12-26-2013	12-26-2013	FIRST TRUST HIGH DIVIDEND EQUITY PORT	305.07
12-26-2013	12-26-2013	FIRST TRUST SELECT DSIP PORT	1.38
12-26-2013	12-26-2013	FIRST TRUST SELECT DSIP PORT	29.49
12-26-2013	12-26-2013	FIRST TRUST TARGET GLOBAL DVD LEADERS	28.59
	01-08-2014	FIRST TRUST TARGET GLOBAL DVD LEADERS	43.67
	01-27-2014	FIRST TRUST HIGH DIVIDEND EQUITY PORT	24.93
	01-29-2014	FIRST TRUST SELECT DSIP PORT	10.42
02-25-2014	02-25-2014	FIRST TRUST HIGH DIVIDEND EQUITY PORT	25.00
02-25-2014	02-25-2014	FIRST TRUST HIGH DIVIDEND EQUITY PORT	517.37

THE DOROTHEA & LEO RABKIN FOUNDATION

Wachovia Securities

Account # 2751-5174

From 12-01-13 Through 11-30-14

Ex-Date	Pay-Date	Security	Amount
02-25-2014	02-25-2014	FIRST TRUST TARGET GLOBAL DVD LEADERS	15.33
03-25-2014	03-25-2014	FIRST TRUST HIGH DIVIDEND EQUITY PORT	26.63
03-25-2014	03-25-2014	FIRST TRUST SELECT DSIP PORT	24.60
03-25-2014	03-25-2014	FIRST TRUST TARGET GLOBAL DVD LEADERS	32.03
04-25-2014	04-25-2014	FIRST TRUST HIGH DIVIDEND EQUITY PORT	27.90
04-25-2014	04-25-2014	FIRST TRUST SELECT DSIP PORT	16.05
04-25-2014	04-25-2014	FIRST TRUST TARGET GLOBAL DVD LEADERS	29.21
05-27-2014	05-27-2014	FIRST TRUST HIGH DIVIDEND EQUITY PORT	27.99
05-27-2014	05-27-2014	FIRST TRUST TARGET GLOBAL DVD LEADERS	33.53
06-25-2014	06-25-2014	FIRST TRUST HIGH DIVIDEND EQUITY PORT	28 07
06-25-2014	06-25-2014	FIRST TRUST SELECT DSIP PORT	29.12
	07-14-2014	FIRST TRUST TARGET GLOBAL DVD LEADERS	85.62
	07-17-2014	FIRST TRUST SELECT DSIP PORT	17.94
07-25-2014		FIRST TRUST HIGH DIVIDEND EQUITY PORT	27.59
	08-21-2014	FIRST TRUST HIGH DIVIDEND EQUITY PORT	29.35
	08-25-2014	FIRST TRUST TARGET GLOBAL DVD LEADERS	25.35
08-25-2014		FIRST TRUST SELECT DSIP PORT	8.06
	09-25-2014	FIRST TRUST TARGET GLOBAL DVD LEADERS	29.58
	09-25-2014	FIRST TRUST HIGH DIVIDEND EQUITY PORT	57.44
	09-25-2014	FIRST TRUST SELECT DSIP PORT	18 51
	10-27-2014	FIRST TRUST TARGET GLOBAL DVD LEADERS	20.91
	10-27-2014	FIRST TRUST TARGET GLOBAL DVD LEADERS	35 32
	10-27-2014	FIRST TRUST SELECT DSIP PORT	10.23
	11-25-2014	FIRST TRUST TARGET GLOBAL DVD LEADERS	29.18
	11-25-2014	FIRST TRUST HIGH DIVIDEND EQUITY PORT	35.57
11-25-2014	11-25-2014	FIRST TRUST SELECT DSIP PORT	16.59
			1,749.96
GNMA - PO			
12-20-2013	12-20-2013	GNMA PASS THRU POOL 3460	20.18
		6.000% Due 10-20-33	
12-20-2013	12-20-2013	GNMA II PASS THRU POOL 3798	27.31
01 01 0014	01 01 001	6.500% Due 12-20-35	10.01
01-21-2014	01-21-2014	GNMA PASS THRU POOL 3460	19.81
01 01 0014	01 21 2014	6.000% Due 10-20-33	27.75
01-21-2014	01-21-2014	GNMA II PASS THRU POOL 3798	26.65
02 20 2014	02-20-2014	6.500% Due 12-20-35 GNMA PASS THRU POOL 3460	19 42
02-20-2014	02-20-2014	6.000% Due 10-20-33	19 42
02-20-2014	02-20-2014	GNMA II PASS THRU POOL 3798	26.37
02-20-2014	02-20-2014	6.500% Due 12-20-35	20.37
		0.30070 Duc 12-20-33	

THE DOROTHEA & LEO RABKIN FOUNDATION

Wachovia Securities

Account # 2751-5174

From 12-01-13 Through 11-30-14

Ex-Date	Pay-Date	Security	Amount
03-20-2014	03-20-2014	GNMA PASS THRU POOL 3460	19.10
03-20-2014	03-20-2014	6.000% Due 10-20-33 GNMA II PASS THRU POOL 3798	25.93
		6.500% Due 12-20-35	20.50
04-21-2014	04-21-2014	GNMA PASS THRU POOL 3460	18.76
		6.000% Due 10-20-33	
04-21-2014	04-21-2014	GNMA II PASS THRU POOL 3798	25.78
05.00.0014	0.5.00.001.1	6.500% Due 12-20-35	
05-20-2014	05-20-2014	GNMA PASS THRU POOL 3460	18.54
05.00.0014	07.00.0014	6.000% Due 10-20-33	
05-20-2014	05-20-2014	GNMA II PASS THRU POOL 3798	24.92
06.00.0014	04.00.004	6.500% Due 12-20-35	
06-20-2014	06-20-2014	GNMA PASS THRU POOL 3460	18.15
06 00 0014	06.00.0014	6.000% Due 10-20-33	24.42
06-20-2014	06-20-2014	GNMA II PASS THRU POOL 3798	24.43
07-21-2014	07-21-2014	6.500% Due 12-20-35 GNMA PASS THRU POOL 3460	17.83
07-21-2014	07-21-2014	6.000% Due 10-20-33	17.83
07-21-2014	07-21-2014	GNMA II PASS THRU POOL 3798	23.31
07-21-2014	07-21-2014	6.500% Due 12-20-35	23.51
08-20-2014	08-20-2014	GNMA PASS THRU POOL 3460	17.57
00 20 2011	00 20 2011	6.000% Due 10-20-33	17.31
08-20-2014	08-20-2014	GNMA II PASS THRU POOL 3798	22.48
		6.500% Due 12-20-35	
09-22-2014	09-22-2014	GNMA PASS THRU POOL 3460	17.24
		6.000% Due 10-20-33	
09-22-2014	09-22-2014	GNMA II PASS THRU POOL 3798	21.95
		6.500% Due 12-20-35	
10-20-2014	10-20-2014	GNMA PASS THRU POOL 3460	16.91
		6.000% Due 10-20-33	
10-20-2014	10-20-2014	GNMA II PASS THRU POOL 3798	21.30
		6.500% Due 12-20-35	
11-20-2014	11-20-2014	GNMA PASS THRU POOL 3460	16.48
		6.000% Due 10-20-33	
11-20-2014	11-20-2014	GNMA II PASS THRU POOL 3798	20.58
		6.500% Due 12-20-35	
			511.00
EXPENSE.	ACCOUNTS		
04-30-2014	04-30-2014	NEW YORK STATE DEPT OF LAW	50.00
06-26-2014	06-26-2014	ACCOUNTING FEES	1,100.00

This report was compiled from information provided by various investment brokers and an independent pricing service

MARKS PANETH

ACCOUNTANTS & ADVISORS

THE DOROTHEA & LEO RABKIN FOUNDATION

Wachovia Securities

Account # 2751-5174

From 12-01-13 Through 11-30-14

Ex-Date	Pay-Date	Security	Amount
07-01-2014	07-01-2014	FEDERAL INCM TAX	29.00
10-28-2014	10-28-2014	CHARITABLE CONTRIBUTION - CASH	10,000.00
			11,179.00
NET INCO	ME		-7,804.85

THE DOROTHEA & LEO RABKIN FOUNDATION

Wachovia Securities

Account # 2751-5174

November 30, 2014

Date	Quantity	Security	Unit Cost	Total Cost	Price	Market Value	Unrealized Gain/Loss	% G/L
CASH AND	EQUIVALENTS							
CASH AND	EQUIVALENTS	CASH		3,805 61		3,805 61		
			_	3,805 61	_	3,805 61		
CERTIFICA	TES OF DEPOSI	т						
01-22-2010		HSBC BK USA CD 3 125% Due 01-27-20	100 00	10,000 00	100 48	10,048 10	48 10	0 5
10-20-2014	30,000	HSBC BANK USA NA 11/10/27	100 00	30,000 00	98 63	29,589 60	-410 40	-1 4
		2 375% Due 11-10-27	_					
				40,000 00		39,637 70	-362 30	-0 9
EQUITY FU	NDS							
08-19-2014	1,008 938	FIRST TRUST HIGH DIVIDEND EQUITY PORT	9 65	9,731 46	9 66	9,746 34	14 88	0 2
07-15-2014	795 418		9 90	7,874 39	10 23	8,137 13	262 74	3 3
07-10-2014	824 975	FIRST TRUST TARGET GLOBAL DVD LEADERS	9 89	8,159 34	9 52	7,853 76	-305 58	-3 7
			_	25,765 19	_	25,737 23	-27 96	-0 1
GNMA - POO	N ED							
01-16-2008	45,000 000	GNMA PASS THRU POOL 3460	8 66	3,899 09	8 17	3,675 78	-223 31	-5 7
07-31-2008	40,000 000	6 000% Due 10-20-33 GNMA II PASS THRU POOL 3798 6.500% Due 12-20-35	13 98	5,590 24	10 97	4,387 90	-1,202 34	-21 5
		0.50070 Duc 12-20-55	-	9,489 33		8,063 68	-1,425 65	-15 0
				,,,,,,,,		0,005 00	1,125 00	.50
MUTUAL FU 03-01-2014	659 196	HIGHLAND FUNDS I LONG SHRT EQ C	15 18	10,006 00	14 47	9,538 57	-467 43	-4 7
		-	-	10,006 00		9,538 57	-467 43	-4 7
TOTAL POR	TFOLIO			89,066.13		86,782.78	-2,283.35	-2.6

FORM 990-PF	DIVIDENDS	S AND INTER	EST FRO	M SECUR	ITIES S'	TATEMENT	1	
GROSS SOURCE AMOUNT		CAPITAL GAINS DIVIDEND	REVENUE		(B) NET INVEST- MENT INCOME			
WELLS FARGO SECURITIES WELLS FARGO	1,750	•	0. 1,750.		1,750.			
SECURITIES	1,624	•	0.	1,624.	1,624.			
TO PART I, LINE 4	3,374	0. 3,37		3,374.	3,374.			
FORM 990-PF		ACCOUNTI	NG FEES		S'	PATEMENT	2	
DESCRIPTION		(A) EXPENSES PER BOOKS	NET IN) VEST- NCOME	(C) ADJUSTED NET INCOME	(D) CHARITAI PURPOSI		
PROFESSIONAL FEES	_	1,100.	-	200.		90	00.	
TO FORM 990-PF, PG	1, LN 16B	1,100.		200.		90	00.	
FORM 990-PF		TAX	ES		S'	STATEMENT 3		
DESCRIPTION		(A) EXPENSES PER BOOKS	(B NET IN MENT I		(C) ADJUSTED NET INCOME	(D) CHARITAI PURPOSI		
EXCISE		29.		0.			0.	
TO FORM 990-PF, PG 1, LN 18		29.		0.		•	0.	

FORM 990-PF O	THER E	XPENSES	_		STATEMENT	(D) CHARITABLE PURPOSES 50.
EXPE	A) NSES BOOKS	(B) NET INVE MENT INC		(C) ADJUSTEL NET INCOM	CHARITABLE	
FILING FEES	50.		0.	•	50	
TO FORM 990-PF, PG 1, LN 23	50.		0.			50.
FORM 990-PF U.S. AND STATE/	CITY G	OVERNMENT	OBL	IGATIONS	STATEMENT	5
DESCRIPTION	U.S GOV'		вос	OK VALUE	FAIR MARKE VALUE	т
	X			84,798.	82,9	77.
TOTAL U.S. GOVERNMENT OBLIGATIONS		-		84,798.	82,9	77.
TOTAL STATE AND MUNICIPAL GOVERNME	NT OBL	IGATIONS		·		
TOTAL TO FORM 990-PF, PART II, LIN	E 10A	-		84,798.	82,9	77.
FORM 990-PF DEPRECIATION OF ASSE	TS NOT	HELD FOR	INVI	ESTMENT	STATEMENT	6
DESCRIPTION		T OR BASIS		JMULATED RECIATION	BOOK VALU	E
COMPUTER COMPUTER		1,364. 1,500.		1,364. 1,500.		0.
TOTAL TO FM 990-PF, PART II, LN 14		2,864.		2,864.		0.

y . • .•

2013 DEPRECIATION AND AMORTIZATION REPORT FORM 990-PF PAGE 1

990-PF

Current Year Deduction	•0	0.	0								į
Current Sec 179			0.							-	
Accumulated Depreciation	1,364.	1,500.	2,864.								
Basis For Depreciation	1,364.	1,500.	2,864.								
Reduction in Basis			0	_							
Bus % Excl				•	 						
Unadjusted Cost Or Basis	1,364.	1,500.	2,864.								
No o	17	17		 -				_			
Life	0	0					·				
Method	200DB	200DB			 -	 *	-				
Date Acquired	021600200DB5.0	022400200DB5.0									
Description	1COMPUTER	2COMPUTER	5								
Asset	, ,	• •									
			-		 				 		

(D) - Asset disposed

* ITC, Section 179, Salvage, Bonus, Commercial Revitalization Deduction